Math 11 Winter 2019 NAME Last First h/ 8 \]{

Quiz Sections 7.1-7.6, 8.1-8.4
23 out of 20 points possible on this quiz

The word distinct means différent or unique or NOT identical, or NOT the same.

1; 150 college students are surveyed about their for spring break plans

T = { students who plan to Travel}
W = { students who plan to Work to earn money}
F = { students who plan to spend time with Family or Friends}

In the group of 150 students included in the survey,
90 plan to spend time with Family/Friends
60 plan to Work to earn money Seﬁa\OOt R?b“ \f‘l
50 plan to Travel o c;az =

Of those: QG ® \(Du:)'k‘o

40 plan to Travel and to spend time with Family/Friends , < ‘ e S
20 plan to Travel and to Work to earn money ao
18 plan to spend time with Family/Friends and Work to earn money

16

This includes that fact that 12 people expect to do all three of these activities

a. [4 points] Complete the numbers in ALL 8 regions shown in the Venn diagram (inside and outside circles).

b, [1.5 points] How many plan to Work to earn money or to spend time with Family/Friends but NOT travel.
B+ o+ Yy = 34 (WUF)NTE shaded aloove

QUESTIONS 2 — 3: SHOW WORK SETTING UP THE CALCULATION & EVALUATE THE ANSWER
2. [2 points] How many distinct (different, unique) arrangements can be made using all 9 letters of the word -
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For q uestion 4 twoH froms aenter oot

WOFNAT has 122 in Yhe center }
co WRa total wedqe for WK nosthave 13-1-=6
TAF tMust hawe yo=-1=23
TAW  Most ha' 20-\2-=%
Then ooter pant of T anclehas 50— ($+12+2L) =2
coter pantof W circle. has (0O - ( B+ 1) =3Y
soten portof [P errcle hos Q0=(02+28+6)=4Y

And add vp e“%wthﬂ wes 2+Q +3Y+28+12+b+ Y4 = 139
So ‘te Fegion outs e eaveles has (80 -134 =16



QUESTION B HAD A CORRECTION, HERE ARL BOTH VERSIONS SoLO TIONS

3. Question  a, b, c refer to the following: A radio station just received recordings for@Hdifferent new songs.
8 of these songs are pop songsand 12 are rock songs and 4 are jazz.

a. [1.5 points] ] They want to play 7 songs in the next hour.

How many different selections of 7 of these new songs are possible?
(Note: We care which 7 songs are selected (chosen) to be played, but not the order in which they are played.) —1
— J
Ay Cq = D46 (04 Q

b. [_1.5 points] How many different selections of 7 songs are possible if 2 are pop songs, 3 are rock songs and 2 are
Jazz? (Note: We care which 7 songs are selected (chosen) to be played, but not the order in which they are played.

C%cm)CIan)('me> B (1‘3)C11o3(ca) = 36900

¢. BONUS [1 point] How many different ordered playlists of 7 songs are possible that consist of ]

2 pop songs , 3 rock songs, and 2 jazz.
(Note: We care which 7 songs are selected and also care about the order in which they are arranged to be played.)
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3. Question 3 a, b, ¢ refer to the following: A radio station just received recordinis for 20 different new songs.

Srdevdoes n

f these songs are pop songs and/}2 dre rock songs and 4 are jazz.

a. [1.5 points] ] They want to play 7 songs in the next hour. I

How many different selections of 7 of these new songs are possible?
(Note: We care which 7 songs are selected (chosen) to be played, but not the order in which they are played.)

QA0 O—] =11520
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b. [1.5 points] How many different selections of 7 songs are possible if 2 are pop songs, 3 are rock songs and 2 are | D
jazz? (Note: We care which 7 songs are selected (chosen) to be played, but not the order in which they are played.) é

Q

(6C2Y(16C3) (4C) = (15 (120)(6) = 10360 .

c. BONUS [1 point] How many different ordered playlists of 7 songs are possible that consist of

2 pop songs , 3 rock songs, and 2 jazz.
(Note: We care which 7 songs are selected and also care about the order in which they are arranged to be played.)

[@CL)(!oCa)C«CL)J C@nlE = (o%00)(5040) = 54, 432,00
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QUESTIONS THIS PAGE: SHOW WORK SETTING UP THE CALCULATION & EVALUATE THE ANSWER
4. [2 points] For 3 different towns, the table shows the number of students enrolled in school, by type (level) of school.

Elementary School (E) | Middle School (M) | High School (H) | TOTAL State answer as
Town A 500 350 400 1250 fraction from table
Town B 400 250 300 950 or round fo 3
Town C 900 400 600 1900 decimal places if
TOTAL 1800 1000 1300 4100 using decimal form.

a. FindP(H N C o
( ) PCHHC)'-' (L = . 140
A4I1OO

b. Find the probability that a student is in Elementary school given that they are in Town B. ¢
- 4O Y /Nof:,: oo .S 15 pot
P(E (B) Q50 PBI£)= (350" eorvect
5. [1.5 poinis] An antique dealer has 8 different fine china teacups. Each cup has a different design or pattern.
She wants to display 5 of these 8 teacups in a row on a shelf. How many differengZarrangements dre possible?

3 Pg = ((N(L)(S)(4) = (L720

6. [1.5 points each parf] At BargainMart, here is some information about sales Events: _
E = customer buys electronics
37% of customers buy clothing H = customer buys housewares
25% of customers buy electronics PCEY =25 C = customer buys clothing
45% of customers buy housewares PCH) =4S SHOW WORK. Round answers to

11% of customers buy both electronics and housewares PCENW®Y =\l 3 docimal places, as needed.
a. Find the probability that a randomly selected customer buys electronics@ousewares. 4~ ¥Find P(EO H)
Adduhon Role.  P(ELH)= P(E) +P(H) - P(ENH)
for YOR" U S e25 +.45 —. i = .59

b. Find the probability that a randomly selected customer buys electronics@given that) they buy housewares.

Conduihonol P(ENR) i\
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7. A college tutorial center has 17 tutors on its staff: 7 science tutors and 10 math tutors, :
8 tutors are being selected to work on Monday. SHOW WORK and round answer to 3 decimal places

a. [2 points] Find the probability that the group of 8 tutors selected has exactly 6 math tutors.

(10Ce)(2Ca) _ (uoy(at) _ Y410 = LIS
@ 24310 ayslo °

b. [2 points] Find the probability that the group of 8 tutors selected has 5 or 6 math tutors.

(1o Cs)(1Co) + (16C6)(7C0)  @82)(28) (2N - 13230 5 4y
o = 24310 24130

BONUS How many distinct (different) arrangements can be made using all 9 letters of the word DUPLICATE
[ point]  if the arrangement must begin with 3 consonants.  (consonants are DPLCT / vowels are UIAE)
€--consonants--=> €-----consonants or vowels are OK--->

S—— N —
5 Pa - (gPo ov6l)

(5P3)(6Ps) = ([ s5c)(3)](61) = 43200




